FLPE R R = a2

USSR e
Z< AR
HhEE R E 1 26F o
By irE%TT
HIEFE EBIHER RERE | BEE > L
FEE F & A R B THES | THEE :
100,62852 EEPZQ==E§$&E§:+§§ 98,280] 102,670
96,739|1 ANEH 92,450[ 97,887
63,608|11 NEHEHE 55,194 63,493
62.842|113 ik B 54398 62,727 ﬁ%%ﬁ% EETE AN s
X
765|114 TETE 796 %6%§%W'A?5%A§m%
X
2,957|12 FEEREBRABFE 4,060 4,252
2957|124 SEIR A B < 4,060 4,252 B0 3 SR B
1,637(13 RERF TAESER B 1,717 1,363
0[131 Ty 1,704 L35SO\ RIRERIBEE: « &atE A
Pt
0 13 13[FFEDrER (1 ~ AT
£6,0007C 2 ~ FAAEH(LE®
HEIBEER7,0007T)
1,637 0 0
15,864/15 i 16,875 15,725
7,589]151 B 8,063 a%9ﬁ§%A'aﬂ§%A%%%
X
8.260[152 GRS 8,762 8,686 &ézﬁé D AEtE A ERE
15/15Y Hofh A 50 SO[EIR A B RS e A5 4
5,950/16 BRIR R E € 7,985 5,864
5900|161 ok 2R IR R e ek < 7913 5,792 (20 BE A S - SEERA
B sEaTR
511162 T ERIK RS 72 TANLTRBRREFHE - GatEHAA
&R
6,723|18 1EFES 6,619 7,190
6,203[181 SEE T IREE 425 425 | e p (R
0 5,538 6,125/ EE TIRRE « astEmA
At
520[18Y HoAh 1@ 656 640 gl;ﬂzﬁ)zﬁ%r% D SEER AR
m&
2,882[2 ST %= daE! 3,798 3,508
1,140121 JKEE 1,384 1,300
1.048]212 TAEGEE 1.074 800 | Eay
0 51 120|350 FH 2 EE (WS 551))
0 129 0[5 EHBFEE
92214 TAIESGFKE 130 130|7k 2
73122 F R 116 116
13]221 ElE= ¢ 36 362 A ST EE
60[222 EahE 80 80|31
8|23 MRiEE 10 10
8231 B A e 10 10[RAH = e
1324 EmssT R EE 17 17




FLPE R R = a2

USSR e
Z< AR
e QR 1 12457 o
By irE%TT
HIEFE EBIHER RERE | BEE > L A 2R
FEE F & A R B THES | THEE nE T
13[241 Ell f 55T E 10 10|EHEESETE(EE8T ~ #
g ~ ERYE ~ EHE) MBUEEEER]
0 7 TS THEE
677[25 EHERERREE 1,198 1,036
15252 —EEEER 40 40(Reaess
0 89 89 %@}%b%f%f AR (U
)
231254 HptnRR e EE 250 250 |Reds B = BB A B B TR
0 20 30| BB B BB E T
E (WG
0 70 OSBRI E HEBETHE
F(WEZEF)
180|255 Wt S e E 60 60| EEMIRELEEEER (2,50
0Tk 128 *26)
0 122 122|9 RB es Ea s
0 50 1 (BB B B R % B AR
WEFEZEEEE
0 50 O ESH B R & &S (UL
SZEE)
0 64 O|@Rs N ERSEL i ~ HAzth &2 f
& R 4
252|257 HETERL e 60 O60[ N2 ~ JHIa i F e e
0 129 120|E B BEE B Bk s ~ it
K~ BBESMERHEEE
0 64 64 |7KE fen g B E AR i 4Enes
0 39 101 |BEEIE: B S st B i R 3% B
WEAEZ SHEEEES
0 91 0% B RIS dE S (L
SZEF)
738[27 — IR 798 760
7381279 M B 798 760 MELER T A IR RIS E2 A
162[28 BEREE 203 197
01285 AR L~ FeEE ~ KRS 35 35|E B EE R R R s R
R F
0 6 6 | B FEARE P A T L AR B RE
W RS (& AR
35 6 0 |@HF R & i 2 2 A )| SRR A S
EilE=4
371287 Zattehe (8) SRdsE 20 20 é;ét%%ééﬁiﬁﬁ%?ﬁ&%iﬂﬁ%%k‘§§
# 7
0 32 32| = R A I
0[289 WL s 4 AW AT ~ B T
TEENRIZEAE R A (W2 ES51)




FLPE R R = a2

USSR e
Z< AR
e QR 1 12457 o
By irE%TT
(i Rl ER | LT st
FEE F & A R B THES | THEE
0[289 WL 10 10 [ree 2emen iee ~ = A St R
B R e S I s & (UG,
#1751))
90[28Y H A B AR 90 N [REETF(REE
71129 NI RE 7 72
71[291 NIRERE 72 T2\RAF G 2 FE R R AE 2R 6,000
TE*128=72,0007C
406[3 ek A e 1,312 543
031 fEFIM e 6 6
0315 S FEEM 6 6|2 T B T 3 S A e B B 2
INGE RS A RS
40632 FAmopRE 1,306 537
277[321 e (FH%) Fdh 327 350 (s s ey
0 43 3|EHEE STRITE (S8 ~ B
2 B S WA E
95[322 s 30 30%#% ST RS R T
0 68 08 [ E L TRIEEN - $ETERE
Rl ZE
14323 PSR E R B L SRR SR 10 10|=EH#EREEE  IEEE
=3 FoE BB S
O 11 14 \/}:@L&%ﬁﬂ E/E/ﬁﬁﬁﬁ‘(qii
E51))
101328 B (FEERBR(E 10 10|Ba b g (e B % - 2k
) I HEE - EE - BIES
k)
0[32Y oAl FH O H AR 5 S%Eﬁéﬁgﬁﬁﬁ%ﬁﬁﬁ
K
0 7 TR Rt (15E*6007T*12
H=7,2007T) » Eo& TIo%dm-
2007
10 795 (0] CESEit=—2a =Y
166(7 o - 58 - #E - & 166 166
B - 8 - BOBEREEY
&
18|74 FHRE ~ I8 - B - IGE 18 18
EROR
18744 IR~ HEEE KRB 18 18| BIR N B =EiRI i 4 (3 A *38f*
2,0007T)
14875 BN REEE 148 148
148|751 Fipem 100 100|BE S PSR TR R 2B
0 48 48 (B L R e
4369 HAi 554 566
436[91 HA >z tH 554 566




FLPE R R = a2

USSR e
Z< AR
HHEE R B 1 248 o
By irE%TT
HIEE EHKTER KEE | HEE L 2R
B F & A & B THES | THER nE T
436|91Y HA 75 75 %ﬁgﬁ%@ﬁb@%nﬁ%
) K
0 36 36|E P ELEE SR RS
0 280 280 | & TS B S B A
0 30 30| MR R BB DL (R R A %
TUEAE (B E T/ NER S EE S
< EEEREE - RIE RAEES)
0 68 68 [R5 38 R E (BB E)
0 20 20| B ER M ST
0 45 STHHEH SR ERE(NEEEH
BL#E20,0007T)
1,884|5M Kk aTE 0 0
1,884/5 BREEEE - /P& 0 0
E -~ JEE R RIKE
BB TR
1,884/51 EREEEE 0 0
1.884[513 BT B R IR Rk 0 0
102,512 4 =t 98,280[ 102,670




